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abdominal | abdominal pain_rater
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_st : station
scen : scenario
Pearson chi2(18) = 3.1429 Pr = 1.000
Fisher's exact = 1.000
7 g . tab fatigue_station fatigue_rater, chi2 exp exact
. tab cough_station cough_rater, chi2 exp exact
cough_st | cough_rater fatigue_st | fatigue_rater
| 2102 2115 2116 2120 2121 2122 2123 | Total | 2104 2117 123
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Total | 7 5 2 79 2 5 | 169 Pearson chi2(7) = = 0.999
| 7.0 15.0 5.0 29.0 79.0 29.0 5.0 | 169.0 Fisher's exact = 0.999
Pearson chi2(12) = 5.3352 Pr = 0.946
Fisher's exact = 0.955
. tab back pain_station back pain_rater, chi2 exp exact
. tab chestpain_station chestpain_rater, chi2 exp exact . .
back pain | back pain_rater
_st | 2114 2123 2401
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scen 3] 27 6 i | 3
| 26.8 6.4 1.6 4. | pearson chi2(6) = = 0.957
___________ s e e e e e e e s Fisher's exact = 0.959
Total | 84 20 5 15 15 30 | 169
| 84.0 20.0 5.0 15.0 15.0 30.0 | 169.0
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_st : station

scen : scenario

To assess independence Chi? or Fisher exact test was calculated.



